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det(MATM) =  15336,0 Siis M on vapaa
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0,14241 -0,08372 0,01330
inv(MATM) = -0,08372 0,07257 -0,00919
0,01330 -0,00919 0,02093
0,10016 0,03208 -0,26995 0,12441 0,20736
MA+ = inv(MATM)MAT =| 0,00430 0,00724 0,20129 0,04636 -0,17273
0,10368 -0,03775 0,03110 -0,03462 0,08118

@tsi PNS-ratkaisu yhtiloryhmille
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-X + 2y + 3z =
 + Sy - 2z =
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4 X 2 y
1 1,00 1,00 2,00
W= 1 2,00 4,00 1,80
1 3,00 9,00 2,10
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1 4,00 16,00 3,10
1 500 2500 3,50
1 1 1 1 1 1
WAT = 1,00 2,00 3,00 3,50 400 5,00
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171429 0,15714 -0,5429 -0,5714 -0,3857 0,6286
WA+ =| -0,974 0,17619 0,60779 0,55411 0,32078 -0,685
0,12987 -0,0476 -0,1039 -0,0866  -0,039 0,1472
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